EARAROBEEIERT — 2 N— IBISH —F 20185F3A13H (k) 28mEHMH3A

Pl 3 C1 5 R 3% ‘ (XM&] W ‘ [ERM]  — | & (&) 14000 68
[A&4£] 1 7% :500,000 3 ~ 23#&:140,000 @ ~ 33#&:70,000  ~ 43#&:50,000™ . 5 3&:40,000 @
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
77 # 3 | REETL 1:36.2 6-5-52 |41.8| — | 8 | 441 |BAEE (FEhH)
1 4 55.0 (-) (+4) Fls R
R:TITRAFTEN BT TrxT Bl 1#
i 23, 4t 3 | B 1:36.4 7-7-6-3 | 42.0| — 5 424 | TEAE— (FEk)
2 3 JLago—> 54.0 (1 1/2) +2) FERE
L:bh—t2hvLRY BieqI TRY—h BLEMS
B ft 3 | EREE 1:36.5 1-1-1-1 | 42.4| — 1 450 | BEFIE (FEH)
3lglg | 7AITv—7 54.0 (1/2) (o) |EBEE
LA 3R =5— B:OrINAL =tstie]
o s 3 | FERE 1:36.7 4-4-4-5 | 42.4| — 3 399 | EFEZER (EA)
411 |F7AR2OT 54.0 (1 1/4) Ly |BENES
R:bE—XT—F— B:TX/HAT # BB
=__ # 3 | FHE— 1:36.9 56-9-9 |42.1| — 10 427 | RIBEE (EA)
5 2| 7T =73 54.0 (3/4) (+2) | LEBS
a4 xvv ML B: 754~ Hha> BEIEMIS
o 4 3 | BEHT 1:36.9 8-8-7-8 |42.1| — 4 476 | KRBT (i)
617|7|ZFTTINZE 55.0 (743) (1) | TP
L:T7RAXLTEL BT —F XTI~ 1%iE BT
NS AZmfER : -10-10- - RF=E (BR)
l2lg| va—rvaq i 3 A 1(73{:5) 10-10-10-10| 41.8 6 <4+157) fyisdl
KU =LY r—=— BHALIITE—I e
i 3 B3 | KIHFEMA 1:37.1 9-9-8-7 |42.4| — 2 429 | WK (M)
Y « DR ZER 540 (7€) (s |EEAME
R:BALINS Ry IR BiXySa i b )1 45
N i 3 | NEAT 1:38.0 3-3-2-3 | 43.7| — 7 418 | EEH¥ER (ER)
9|8[10| ATEAY—IL 8.0 (5) s | ) mEngE
R:FHYTIIRE B:3VIZx—4 FE Ak
LS 3 | KEAR 1:38.1 2-2-3-6 |43.9| — 9 452 | RFRF (EH)
10/5|5|7~¥17 54.0 (3/4) 4y | ) FTVaTU-RaL K
R:TwITNEry b BiTF T =
® 1—F—@EBIERL
1T=7r= 9,5,10,1,2,4,3,7,6,8
2a=5F= 9,5,10,1,4,2,3,7,6,8
30—4— 9,10,5,1,4,3,7,6,2,8
40—F— 9,4,(3,10),1,5,6,7,2,8
[ N5
B 4 2,480 714K 3-4 1,430H e E 3-4 2,650 JEE 3-4-9 2,660M
B B 4 380H 4-9 940M B = 3-4 7,770 JEE 4-3-9 43,950
3 240M 3-9 340M B H 4-3 14,670
9 1309

ABICOVWTRDTEEERROODE. TR LIV,



